@@ PYTHABGORAS

_H_vammmm & Triples

Calculate the length of sides x, y and 2.
Round sensibly.
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2. Which of these is not a Pythagorean triple?
A 8,108 B. 24,7,25
C. 26,24,10 D. 40,9, 42

Rugby :
1. This rugby field is 65m wide.

What is the length of each grid sQUare? .......ovvvvrvierernnen

2. The Fullback at F kicks the ball so that #t goes cut at A

Calculate the length of his clearing kick FA.

3. The Centre and the Winger are both on the 10m #ne

(€ and W). The Winger gives a centering ‘bomb’ kick which
goes high and slightly 1o the right, but is only 25m longso *

the Centre can run ento it and attempt to catch it.
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How far doas the Centre have to run to make the catch?
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Geometry

Applications

Calculate the total length of
the fence around this
section.

We will caiculate the height H

of this stack of 3 rolls of paper
with radius 50cm.

How long Is MN?
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How long is MT?
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Calculate the length of NT and hence height H.
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Calculate sides X yandz

x J12mm

24cm
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2, The sireet plan shows a
shortout to Main Straet.
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Calculate langth %.

Calculate the length of path p.

b

-—

In Court

Tennls Court
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Julia is taking a free throw in a basketball game. She stands 5m directly in front of
the basket. Julia aims for the sguare on the backboard which is 3.25m above the
ground. Julia is 1.7m tall, Calculate the angle of elevation of the intended shot.
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1. Cormnplete,
a} lfsin A=0.3907, than A= ...

E foos B=0.4384, thenB = ...ccovvrivirirecnas

2, dwﬁc_m#m angies Aand B.

A 2 C

This diagram shows the
cross section of an attic.
Use AAED to calculata the height of the attic.
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8} Use ABCD to caiculate angle C.
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The 20m long shot of tennie player A makes an angle of 65
with the basaling. |s the ball Inside the (singles) court?
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This diagram shows the side view of a squash court, Calculate the :m_mz of the
frentwall. ...




